Research Question
The higher the amount of ATM transactions correlate to higher account balances and the higher use of bank services
Five-Step Hypothesis Test

The first step within the five-step hypothesis process is to state the hypothesis. After selecting the research question, the null hypothesis and alternative hypothesis is determined. For this project the null hypothesis is accounts does not exceed $750 [image: image2.png]Hy:
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and the alternative hypothesis is accounts exceed $750 [image: image4.png]Ho:u > $750



. The null hypothesis means if the hypothesis does not exceed $750, the hypothesis will be accepted. The alternative hypothesis is the opposite of the null, so if the null is rejected, the alternative is accepted.

 The second step for the process is to identify the level of significance, which is used when determining the critical values. For this assignment, Team D has chosen a level of significance of .10, which means that the team is 90% sure of the reliability of the findings, but recognizes a 10% chance of being wrong.

The third step is identifying the test statistic and the formula that is used to formulate the data for Century National Bank data. Since the problem is about the balance within an account, the mean has to be determined. Within the data sheet, a list of 60 accounts has the mean of $1499.87, with a standard deviation of $596.36. The formula would look like this: [image: image6.png]3149387-750 _ 74987
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. This means z=9.744. 

The fourth step is to state the decision rule. Since the significance level is .10, the critical value of z=1.281. The decision rule states: Reject [image: image8.png]Hyif z > 1.281



. 

The final step is to make a final decision on the test statistic. The test statistic is 9.744, which does fall in the right rejection region, so the null hypothesis of [image: image10.png]Hy:
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 would be rejected, therefore the alternative hypothesis of  [image: image12.png]Ho:u > $750



 would be accepted.

